|

|

‘ KERBE

& SO

-

31 12
P P

ae
«nnmm e

®




_AARARS (PHNRT)-H R

¥ R 2 2 X FABE| ZAAA R — = SR S Uk i ] b
- — e P
sawx—n |%]24T[sox[m|22C[40x| NC-25 |ZRHCARO. 1Sag/nHF 4 = ¥ - \
n & | B 126c|s0x|m|22Cl40%| NC-25 |FRBLARO. 15ag/a T D W T SMD =
* 7 1 T |#|2st|sox|m|22C]40%| NC-30 |FEBUARO. 15e0/n T
@ 8 ¥ |%|25C|s0x|m|22C[40X] NC-35 |FRRUARO. 1580/ BT
: * B ¥ |%|2s¢|50x|m|22C]|40x| NC-35 |FEBUARO0. 15a0/n'HT
3 * B | % ]26c|s0x|m |22C{40%]| NC-35 |FRYUARO. 1Sag/n LT 8T W }
. > j . PREEET] fed [
A A Jille e el el e
-
12 12 g 1 1Y 1 13 | | 2K u 1
ES. AC FE AC FEAFM AC l l’_"‘/}*‘l
A on s G R e R TS M’__..,-__,.».\E_*—« ’ - BN, 0 ST TR
! o o i e
1 EA s S -2 ®1
AL VD VO cnq : % [—I——[—’ )
22 g s a3 l I l P et = _R53
1 T R S
— < o=
|1 £ [ " -
SMA
0A RA —~ T R
FUT T 0]
) Es (!
A — I
. A
A (2) VRERUN—YNE &
e L e = s e L i _
e S BHa®H (1)
[ h AN i et et
YE—UF xvs-




| ewvEm 1/100,
RHA-01,02
% 2 K [BVIOOX4 , FI00%4

a0 % |Bvieoxd Faeoxa | (D '

K & & |Gv20x4 S 2000
PCD~-01,02 ‘ F.# 8,000 hin Slaeeg s e T i 8,000 e
% 10 K | BVIZ5Xa , CVIZSXd_ iz |

FJ125%x4 ‘ ; b JZLLQQ_ e

% 2 A | BVIOOX4 , CVIOOX4
oo | T

—I_,.:?'___:ﬁr-#, = e B e ——
PCH-— ' mpa E{“l : CHR
H-01,02 i 0 oo 0 AP (8| N H1 L CH

<4 PH=01
B K |6V50xR, CVS0
[ |FBoe




Y: ACD, GSIRYO CA01-11-0104, CDO1

-

NEARTER AL

BWEHEH vJvx-2 (CB)

(h296947°)

SicmncHiL

EH#&S: CAO1-11-0104

%7H: 2011.06 14| T ZARRABAKBAF X (HE1.56)
42%41Tx BREZ 80, 100RT

ANE =0+ E
AE-O-F
AE-O-F

42%812 BRREY¥HA 80, 100RT
42%%1% BEHAL1 BORT

1079 (XN L Hi£)

B2RMAE (13A): 1.96kpa

R QAN 50 50 50 50 BAzEGOA
K : s M20xBri ot 2083
108k SNAOREBE. J42b Y9I RFHEET, AALIT. <prmEr> o el L
= . 150 -M10
; o0 ot |
2. 88k $AXROEEEAENCL. 784kPa (Gauge) Tt.
3. BHZERORER. JISI0KFFO75vY8%TT, o P
4 MHAZADDEG. RHAZOHADHBENCLYERYET, | |
*Eu‘13Aﬁx§$ﬁ%ﬁ2&®ﬂét?bit. ! i
(Bau, THENER *2BRVIT, == S Wl
5. ASAROBEACAY 7+ AEMAERLTTRL, S Ser T 1S &
= n
B.ARARDEAERAMORY BADLHC, - l EP ! o
EEHR-HCRRERNERRLTTEW, T1 | T | |
W1~——— : i 186 (234)
n - o 216
g + i | R ¢ 5 i 5
B Y _#azeen B4
741 1775 \%ggif%; 356
AHx%0 1350
{125A)
C G oW oo o) ]—z’[!.'l—T
o . (o]
I . A= =
cooo 0O ECI l A2%A0
© [ (100A)
:o % h1-p &8
© (100A)
i X 0] Q
&E i : 1
" o ey
< - (EEE N m
ooooooaunooaonh_ o T_J— % g l oonooconoﬁfnoo
o ] i | &21 - :
B gy =g Tl
E{ :r = | kB
;TL“\“‘ ‘ﬁi@ 8§ | (Goe L gy
m i - = - 5 4 "l' % 4 ==
Lol A [ [ il H | L)
\_#9%A0 -
(125A) 998
1265 787 1996 s <57 1265
51 1749 (2R b 132) 51 2955 1757
T i 5



